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05.2: OO0OOOO (I =4.0, Re=500)

()

7(s) St Mode E Q N in N out N up N Tow
0.65 0.103 A4 7.63 5.71 -661 -385 -137 -138
0.66 0.101 N4 7.88 6.99 -679 -531 -75 -75
0.67 0.100 N4 7.88 6.99 -679 -531 -75 -75
0.68 0.098 N4 7.88 6.99 -679 -531 -75 -75
0.69 0.097 N4 7.88 6.99 -679 -531 -75 -75
0.70 0.095 N4 7.88 6.99 -679 -531 -75 -75
0.71 0.094 N4 7.88 6.99 -679 -531 -75 -75
0.72 0.093 N4 7.88 6.99 -679 -531 -75 -75
0.73 0.091 N2 8.81 5.90 -584 -454 -65 -65
0.74 0.090 N2 8.81 5.90 -584 -454 -65 -65
0.75 0.089 N2 8.81 5.90 -584 -454 -65 -65
0.85 0.078 N2 8.81 5.90 -584 -454 -65 -65
0.90 0.074 N2 8.81 5.90 -584 -454 -65 -65
0.95 0.070 N2 8.81 5.90 -584 -454 -65 -65
1.00 0.067 N4 7.88 6.99 -679 -531 -75 -75
1.20 0.056 N4 7.88 6.99 -679 -531 -75 -75
1.40 0.048 N4 7.88 6.99 -679 -531 -75 -75
1.60 0.042 N4 7.88 6.99 -679 -531 -75 -75
3.00 0.022 N4 7.88 6.99 -679 -531 -75 -75
4.00 0.017 N4 7.88 6.99 -679 -531 -75 -75
5.00 0.013 N4 7.88 6.99 -679 -531 -75 -75
10.00 0.007 N4 7.88 6.99 -679 -531 -75 -75

x 0.01 x 0.1

(b)

7(s) St Mode E Q N in N out N up N Tow
0.85 0.078 N2 8.81 5.90 -584 -454 -65 -65
0.72 0.093 N4 7.88 6.99 -679 -531 -75 -75
0.65 0.103 A4 7.63 5.71 -661 -385 -137 -138

x 0.01 x 0.1
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O05.3: JOooood (I =4.0, Re=650)

()
7(s) St Mode E Q N in N out N up N Tow
0.002 | 25.641 A4 7.32 6.71 -739 -434 -151 -151
0.004 | 12.821 | N4 7.57 8.16 -755 -605 -77 -77
0.006 | 8.547 | A4 7.32 6.71 -739 -434 -151 -151
0.008 6.410 N4 7.57 8.16 -755 -605 =77 =77
0.010 5.128 N4 7.57 8.16 -755 -605 =77 =77
0.020 2.564 N4 7.57 8.16 -755 -605 =77 =77
0.030 1.709 N4 7.57 8.16 -755 -605 =77 =77
0.040 | 1.282 | N4 7.57 8.16 -755 -605 -77 -77
0.050 1.026 N4 7.57 8.16 -755 -605 =77 =77
0.100 0.513 N4 7.57 8.16 -755 -605 =77 =77
0.120 | 0.427 | N4 7.57 8.16 -755 -605 -77 -77
0.140 0.366 N4 7.57 8.16 -755 -605 =77 =77
0.150 0.342 N2 8.51 6.93 -644 -513 -67 -68
0.160 0.321 N2 8.51 6.93 -644 -513 -67 -67
0.180 0.285 N4 7.57 8.16 -755 -605 =77 =77
0.200 0.256 N4 7.57 8.16 -755 -605 =77 =77
0.400 0.128 N4 7.57 8.16 -755 -605 =77 =77
0.600 0.085 A4 7.32 6.71 -739 -434 -151 -151
0.800 0.064 A4 7.32 6.71 -739 -434 -151 -151
1.000 0.051 N4 7.57 8.16 -755 -605 =77 =77
2.000 0.026 N4 7.57 8.16 -755 -605 =77 =77
3.000 0.017 N4 7.57 8.16 -755 -605 =77 =77
4.000 0.013 N4 7.57 8.16 -755 -605 =77 =77
5.000 0.010 N2 8.51 6.93 -644 -513 -66 -67
6.000 0.009 N4 7.57 8.16 -755 -605 =77 =77
7.000 0.007 N4 7.57 8.16 -755 -605 =77 =77
8.000 0.006 N4 7.57 8.16 -755 -605 =77 =77
9.000 0.006 N4 7.57 8.16 -755 -605 =77 =77

10.000 0.005 N4 7.57 8.16 -755 -605 -77 -77

x 0.01 x 0.1

®
7(s) St Mode E Q N in N out N up N Tow
5.000 0.010 N2 8.51 6.93 -644 -513 -66 -67
0.004 | 12.821 | N4 7.57 8.16 -755 -605 -77 -77
0.006 8.547 A4 7.32 6.71 -739 -434 -151 -151

x 0.01 x 0.1
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O05.4: OO0OOOO (I =4.0, Re=700)
()
7(s) St Mode E Q N in N out up low
0.20 0.238 N2 8.43 7.24 -663 -532 -67 -67
0.25 0.190 N2 8.43 7.24 -663 -532 -67 -67
0.30 0.159 N4 7.50 8.51 =779 -628 -78 -78
0.35 0.136 N4 7.50 8.51 =779 -628 -78 -78
0.40 0.119 N2 8.43 7.24 -662 -531 -67 -67
0.45 0.106 N2 8.43 7.24 -663 -532 -67 -67
0.50 0.095 N4 7.50 8.51 =779 -628 -78 -78
0.55 0.087 A4 7.24 7.01 -763 -451 -155 -156
0.60 0.079 A4 7.23 7.01 -763 -450 -155 -156
0.65 0.073 A4 7.24 7.01 -763 -450 -155 -156
0.70 0.068 A4 7.24 7.01 -763 -450 -155 -156
0.75 0.063 A4 7.24 7.01 -763 -450 -155 -156
0.80 0.060 A4 7.23 7.01 -763 -450 -155 -156
x 0.01 x 0.1
(b)
7(s) St Mode E Q N in N out up low
0.20 0.238 N2 8.43 7.24 -663 -532 -67 -67
0.30 0.159 N4 7.50 8.51 =779 -628 -78 -78
0.55 0.087 A4 7.24 7.01 -763 -451 -155 -156
x 0.01 x 0.1
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O05.5: DOOOogno (I =4.0, Re=800)

()
7(s) St Mode E Q N in N out N up N Tow
0.20 0.208 A4 7.11 7.59 -810 -480 -164 -164
0.25 0.167 A4 7.11 7.59 -810 -480 -164 -164
0.30 0.139 A4 7.11 7.59 -810 -480 -164 -164
0.35 0.119 N4 7.36 9.17 -824 -671 -79 -79
0.40 0.104 N4 7.36 9.17 -824 -671 -79 -79
0.45 0.093 N4 7.36 9.17 -824 -671 -79 -79
0.50 0.083 N4 7.36 9.17 -824 -671 -79 -79
0.55 0.076 N4 7.36 9.17 -824 -671 -79 -79
0.60 0.069 N2 8.29 7.81 -698 -566 -68 -68
0.65 0.064 A4 7.11 7.59 -810 -480 -164 -164
0.70 0.060 A4 7.11 7.59 -810 -480 -164 -164
0.75 0.056 A4 7.11 7.59 -810 -480 -164 -164
0.80 0.052 A4 7.11 7.59 -810 -480 -164 -164
x 0.01 x 0.1
(b)
7(s) St Mode E Q N in N out N up N Tow
0.60 0.069 N2 8.29 7.81 -698 -566 -68 -68
0.35 0.119 N4 7.36 9.17 -824 -671 -79 -79
0.20 0.208 A4 7.11 7.59 -810 -480 -164 -164
x 0.01 x 0.1
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O5.6: JOooooO (I =4.0, Re=1000)

()

7(s) St Mode E Q N in N out N up N Tow
0.05 0.667 A4 6.92 8.61 -900 -536 -180 -181
0.10 0.333 N4 7.16 10.33 -908 -753 -82 -82
0.15 0.222 N4 7.16 10.33 -908 -753 -82 -82
0.20 0.167 N4 7.16 10.33 -908 -753 -82 -82
0.25 0.133 A4 6.92 8.61 -900 -536 -180 -181
0.30 0.111 A4 6.92 8.61 -900 -536 -180 -181
0.35 0.095 A4 6.92 8.61 -900 -536 -180 -181
0.40 0.083 A4 6.92 8.61 -900 -536 -180 -181
0.45 0.074 A4 6.92 8.61 -900 -536 -180 -181
0.50 0.067 A4 6.92 8.61 -900 -536 -180 -181
0.55 0.061 A4 6.92 8.61 -900 -536 -180 -181
0.60 0.056 N4 7.16 10.33 -908 -753 -82 -82
0.80 0.042 N4 7.16 10.33 -908 -753 -82 -82
0.90 0.037 N4 7.16 10.33 -908 -752 -82 -82
1.00 0.033 A4 6.92 8.61 -900 -536 -180 -181
1.20 0.028 A4 6.92 8.61 -900 -536 -180 -181
1.50 0.022 N4 7.16 10.33 -908 -753 -82 -82
2.00 0.017 N2 8.07 8.82 -763 -631 -70 -70
3.00 0.011 N4 7.16 10.33 -908 -752 -82 -82
4.00 0.008 N2 8.07 8.82 -763 -631 -70 -70
5.00 0.007 N4 7.16 10.33 -908 -752 -82 -82
10.00 0.003 N4 7.16 10.33 -908 -752 -82 -82

x 0.01 x 0.1

(b)

7(s) St Mode E Q N in N out N up N Tow
2.00 0.017 N2 8.07 8.82 -763 -631 -70 -70
0.10 0.333 N4 7.16 10.33 -908 -753 -82 -82
0.25 0.133 A4 6.92 8.61 -900 -536 -180 -181

x 0.01 x 0.1
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gbooboogbbobuooooboboogobbooooboboobog
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